#### DR. BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY, AURANGABAD [M.S.] INDIA.



#### ORDER OF AMENDED ORDINANCES FOR AFFILIATION FEE /02/ 2020.

WHEREAS the Committee appointed by the Authorities of the University to amend the Ordinances relating to affiliation fee for opening of new colleges, first affiliation, continuation of affiliation, extension of affiliation and permanent affiliation to the affiliated colleges.

#### AND

WHEREAS the report of the said committee is accepted by the Hon'ble Vice-Chancellor and directed that to place the same before the management council for further discussion.

#### AND

WHEREAS there is no meeting of the Academic Council is arranged to accept the said amended ordinances to apply to the affiliated colleges.

WHEREAS the report of the said Committee is accepted by the Board of Deans and recommended to the Academic Council for consideration.

#### AND

WHEREAS the Management Council at its meeting held on 29.08.2020 has accepted the amended ordinances 150, 151, 152 & 152 [A] relating to revised affiliation fee to apply to the affiliated **colleges** from the academic year 2021-2022.

WHEREAS the Academic Council is yet to be considered the amended ordinances relating to fee for opening of new colleges, first affiliation, continuation affiliation, extension of affiliation and permanent affiliation fee.

#### AND

THEREFORE, I, PROF. (DR.) PRAMOD YEOLE, VICE-CHANCELLOR of Dr. Babasaheb Ambedkar Marathwada University, in exercise the powers conferred on me as per the provisions of section-12 [7] & 12 [8] of Maharashtra Public Universities Act, 2016 and directs that, the amended ordinances relating to revised affiliation fee for Colleges shall be implement from the academic year 2021-2022 and enforce from the date of Management Council held on 29.08.2020.

#### AND

THESE, directives shall be operative till such time and date as amended ordinances is to be assented by the Hon'ble Chancellor.

University Campus, Aurangabad-431 004.

REF.NO. AM.ORD./AFFI.FEE/02/2020/15599 15609 Prof. Dr. Pramod Yeole, Vice-Chancellor.

Date:- <u>08</u>-09-2020.

--2--

#### Copy forwarded for information and necessary action to:-

- 1] The Director, Higher Education, Pune.
- 2] The Director, Technical Education, Mumbai.
- 3] The Heads of University departments & Sub Campus, Osmanabad.
- 4] The Principal, Autonomous Colleges, Dr. Babasaheb Ambedkar Marathwada University, Aurangabad.
- 5] The Principal, All Affiliated Colleges, Dr. Babasaheb Ambedkar Marathwada University, Aurangabad.
- 6] The Director, Recognized affiliated Institutions,
- 6] The I/C Post Graduate Centers of affiliated colleges,
- 7] The Director, UNIC, Dr. Babasaheb Ambedkar Marathwada University, Aurangabad.
- 8] The Deputy Registrar, [Establishment Section], Copy to:-
- 1] The Finance and Accounts Officer, Dr. Babasaheb Ambedkar Marathwada University, Aurangabad.
- 2] The Deputy Registrar, [Academic Section],
- 3] The Record Keeper, Dr. Babasaheb Ambedkar Marathwada University

0\*080920/-

.

## DR, BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY



Statement showing the first affiliation fees and annual affiliation fees pertaining to Ordincance-150 for Opening New College and under extension for New Division / New Course / New Faculty's for Academic Year 2021-2022 and onwards.

O.150:- Annualand First Affiliation fees remittance by management of affiliated colleges / Recognized Institutions after obtained the permission from Government of Maharashtra for Under Graduate and Post Graduate Course as per mention in following table.

[A] Under Graduate Courses: [fees for Per Course / Division / Branch]:

Sr. No.	Name of Course	Name of Faculty	Revised Fees
1]	Arts & Social Sciences	Humanities	Rs. 18,000/- Per Course
2]	Commerce	Commerce and Management	Rs. 18,000/- Per Course
3]	Science	Science and Technology	Rs. 25,000/- Per Course
4]	Bachelor of Vocational Science Science and Technolog (B.Voc.)		Rs. 10,000/- per Course
5]	Education	Inter-disciplinary studies.	
6]	Physical Education	Inter-disciplinary studies.	Rs. 25,000/- Per Course
7]	Law	Inter-disciplinary studies.	Rs. 30,000/- Pre Law five Year Course Rs. 30,000/- Degree Course
8]	8] Management Science Commerce Managem		Rs. 35,000/- Per Course
9]	Engineering	Science and Technology	Rs. 40,000/- Per Branch
10]	Architecture	Science and Technology	Rs. 40,000/- Per Branch
11]	Pharmacy	Science and Technology	Rs. 1,00,000/- Per Branch
12]	Fine Art	Inter-disciplinary studies.	Rs. 25,000/- Per Course.

#### [B] All Post Graduate Courses [Fees for Per Course]:

Sr. No. Name of Course		Name of Faculty	Revised Fees	
1] Arts & Social Sciences		Humanities	Rs. 10,000/-	
2]	Commerce	Commerce and Management	Rs. 15,000/-	
3]	Science	Science and Technology	Rs. 20,000/-	
4]	Education	Inter-disciplinary studies.	Rs. 25,000/-	
5]	Physical Education	Inter-disciplinary studies.	Rs. 20,000/-	
6]	All Professional Courses Course wise respective faculty's		Rs. 1,00,000/-	
7]	L.L.M.	Inter-disciplinary studies.	Rs. 30,000/-	
8] M. Voc.		Science and Technology	Rs. 15,000/-	

#### NOTE:-

- 1. The First Affiliation and Annual Affiliation Fees shall be no change in every academic year. It should be a re-consider for every five years at the time of published 'five yearsperspective plan' of the University.
- 2. University shall not take any additional fees in respect of academic audit except affiliation fees.

\_\_\*\*\_\_

### DR. BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY



Statement showing the processing fees pertaining to Ordincance-151 for Opening New College / New Course / New Division / New Faculty's / Recognized Institutions for academic Year 2021-2022 and Onwards.

# O.151:- Processing fees remittance by management of affiliated colleges / Recognized Institutions for opening New College / New Course / New Division / New Faculty's as per mention in following table.

Sr. No.	Name of Course	Name of Faculty	Revised Fees
1]	Arts & Social Sciences	Humanities	Rs. 33,000/-
2]	Commerce	Commerce and Management	Rs. 33,000/-
3]	Science		
4]	Vocational Courses Science and Technology		Rs. 45,000/- Rs. 20,000/-
5]	Education & Physical Education		
6]	Law Inter-disciplinary studies.		Rs. 1,00,000/- Per Course Rs.50,000/- Pre Law of Five year Course& Rs. 1,00,000/- Per Degree Course
7]	Management Science For M.B.A.	Commerce and Management	Rs. 1,00,000/- (New College) Rs. 50,000/- (New Division)
8]	Engineering	Science and Technology	Rs. 3,00,000/- (New College) Rs. 1,50,000/- Per Branch
9]	Architecture	Science and Technology	Rs. 2,00,000/-
10]	Pharmacy	Science and Technology	Rs. 3,00,000/-
11]	B.C.A., B.B.A. and Other Under Graduate Courses for Management Faculty.  Commerce and Management Commerce and Management		Rs. 1,00,000/- Per Course
12]	B.Sc. [Comp.Sci.], B.Sc. [I.T.], B.Sc.[Bio.Info.], B.Sc.[Bio.Tech.], B.C.A.[Science Faculty].	Science and Technology	Rs. 1,00,000/- Per Course
12A]	B. Voc. Courses approved by UGC	Respective faculty's of Course	Rs. 10,000/- Per Course
13]	Mass Communication and Journalism etc. for Professional Courses. (M.M.C.J.)	Inter-disciplinary studies.	Rs. 1,00,000/- Per Course
13A]	B. A. M.C.J.	Inter-disciplinary studies.	Rs. 75,000/- Per Course
14]	All Post Graduate Courses for Science Faculty	Science and Technology	Rs. 1,00,000/- Per Course
15]	All Post Graduate Courses for Education and Physical Education Courses.	Commerce and Management	Rs. 1,00,000/- Per Course
16]	B.C.M., D.C.A., M.C.M., M.P.M., D.B.M., D.L.L., D.P.M., etc. Post Graduate Courses for Management Faculty.	D.B.M., D.L.L., D.P.M., etc. Post Graduate Courses for Management	
17]	M.A., M.Com.	M.A., M.Com. Course wise respective faculty's	
18]	All Post Graduate Courses for Pharmacy and Engineering.	Science and Technology	Rs. 2,00,000/- Per Course
19]	Fine Art P.G. Course	Inter-disciplinary studies.	Rs. 75,000/- Per Course
20]	Fine Art U.G. Course	Inter-disciplinary studies.	Rs. 40,000/- Per Course
21]	Post Graduate CoursesOf Law.	Inter-disciplinary studies.	Rs. 1,50,000/-

:: 02 ::

#### Note: -

- 1. Processing fees of opening New College / New Course / New Division / New Faculty's one times remittance by management of colleges/ Recognized Institutions shall not be refundable at any cost to applicant or management of colleges.
- 2. Processing fees of opening New College / New Course / New Division / New Faculty's shall be no change in every academic year. It should be a re-consider for every five years at the time of published 'five years perspective plan' of the University.

### DR. BABASAHEB AMBEDKAR MARATHWADA UNIVERSITY



Statement showing the processing fees pertaining to Ordincance-152 for Opening under extension of New Subject / New Method / Specialization etc. and First Affiliation and Continuation Affiliation fees of said subject for academic Year 2021-2022 and Onwards.

O.152:- Processing fees remittance by management of affiliated colleges / Recognized Institutions for Opening under extension of New Subject / New Method / Specialization etc. and First Affiliation and Continuation Affiliation fees of said subject as per mention in following table.

Sr. No.	Name of Course	Name of Faculty	Revised Fees
1]	Arts & Social Sciences	Humanities	Rs. 6,000/- Per Subject
2]	Commerce	Commerce and Management	Rs. 6,000/- Per Subject
3]	Science	Science and Technology	Rs. 9,000/- Per Subject
4]	Vocational Degree and Certificate Courses approved by UGC	Respective Faculty's	Rs. 9,000/- Per Subject
4] A)	B.Sc. Vocational Science	Science and Technology	Rs. 9,000/- Per Subject
5]	Education	Inter-disciplinary studies.	Rs. 5,000/- Per Method / Subject.
6]	Physical Education	Inter-disciplinary studies.	Rs. 5,000/- Per Method / Subject.
7]	Law	Inter-disciplinary studies.	Rs. 5,000/- Per Subject / Specialization.
8]	Management Science	Commerce and Management	Rs. 10,000/- Per Subject / Specialization.
9]	Engineering	Science and Technology	Rs. 15,000/- Per Subject / Specialization.
10]	Architecture	Science and Technology	Rs.15,000/- Per Subject / Specialization.
11]	Fine Art	Inter-disciplinary studies.	Rs. 5,000/- Per Subject / Specialization.
12]	Pharmacy	Science and Technology	Rs. 15,000/- Per Subject / Specialization.

#### Note: -

- 1. Processing fees of opening under extension of New Subject / New Method / Specialization etc. one times remittance by management of colleges shall not be refundable at any cost to applicant or management of colleges.
- 2. Processing fees of opening under extension of New Subject / New Method / Specialization etc. shall be no change in every academic year. It should be a re-consider for every five years at the time of published 'five years perspective plan' of the University.

#### O. 152 [A]:- CONTINUATION OF AFFILIATION / RECOGNITION:-

- [1] Every permanent Affiliated Colleges seeking continuation of Affiliation/ Recognition shall pay a fee of Rs. 10,000/- for continuation affiliation fee for all courses.
- [2] Revised Prices of Various Application Forms: (Available on-Line)
- [a] Application form for grant of Permission of New College/ Institution Rs. 1,000/-
- [b] Application form for First time Affiliation Rs. 1,000/-
- [c] Application form for continuation of Affiliation/Continuation of Recognition/Affiliation for

Natural Growth/Extension of Affiliation/ Extension of Recognition. Rs. 1,000/-

[d] University Perspective Plan Rs. 1,000/-

## Statement showing the fees for Govt. Recognized Institutes Annual Affiliation Fees / Continuation and Extension Fees.

Sr. No.	Name of Course	Amount of Fees for Academic Year 2021-22 and Onwards
[1]	Non Professional Courses	Rs. 1,25,000/-
[2]	Professional Courses	Rs. 1,87,500/-

## STATEMENT SHOWING THE UNDER GRADUATE AND POST GRADUATE COURSES FEES FOR PERMANENT AFFILIATION FROM ACADEMIC YEAR 2021-2022 AND ONWARDS

A]	Under Graduate Courses		Amount of Fees for Academic Year	
Sr. No.	Name of Course	Name of Faculty	ANNUAL FEES	PERMANENT FEES
1]	Arts & Social Sciences	Humanities	Rs. 18,000 x 5 =	Rs. 90,000/-
2]	Commerce	Commerce and Management	Rs. 18,000 x 5 =	Rs. 90,000/-
3]	Science	Science and Technology	Rs. 25,000 x 5 =	Rs. 1,25,000/-
4]	Education	Inter-disciplinary studies.	Rs. 35,000 x 5 =	Rs. 1,75,000/-
5]	Physical Education	Inter-disciplinary studies.	Rs. 25,000 x 5 =	Rs. 1,25,000/-
6]	Law	Inter-disciplinary studies.	Rs. 30,000 x 5 =	Rs. 1,50,000/-
7]	Management Science	Science and Technology	Rs. 35,000 x 5 =	Rs. 1,75,000/-
8]	Engineering	Science and Technology	Rs. 40,000 x 5 =	Rs. 2,00,000/-
9]	Architecture	Science and Technology	Rs. 40,000 x 5 =	Rs. 2,00,000/-
10]	Fine Art	Inter-disciplinary studies.	Rs. 25,000 x 5 =	Rs. 1,25,000/-
11]	Pharmacy	Science and Technology	Rs.1,00,000x5 =	Rs. 5,00,000/-

B	All Post Graduate Courses [Fees For Per Course]		Amount of Fees for Academic Year	
Sr. No.	Name of Course	Name of Faculty	ANNUAL FEES	PERMANENT FEES
1]	Arts & Social Sciences	Humanities	Rs. 10,000 x 5 =	Rs. 50,000/-
2]	Commerce	Commerce and Management	Rs. 15,000 x 5 =	Rs.75,000/-
3]	Science	Science and Technology	Rs. 20,000 x 5 =	Rs. 1,00,000/-
4]	Education	Inter-disciplinary studies.	Rs. 25,000 x 5 =	Rs. 1,25,000/-
5]	Physical Education	Inter-disciplinary studies.	Rs. 20,000 x 5 =	Rs. 1,00,000/-
6]	All Professional Courses	Course wise respective faculty's	Rs. 1,00,000x5 =	Rs. 5,00,000/-

#### Note:-

- 1. The Permanent Affiliation Fees one times remittance by management of colleges shall not be refundable at any cost to applicant or management of colleges.
- 2. The Permanent Affiliation Fees remittance by management of college shall be five times of the Annual Affiliation Fees as per mention in Ordinance-150 in respect of annual affiliation.
- 3. The Permanent Affiliation Fees shall be no change in every academic year. It should be a re-consider for every five years at the time of published 'five years perspective plan' of the University.

Report Submitted pertaining to draft of amended Ordinance-150, 151, 152 and 152 [A] in respect of first annual affiliation fees, processing fees of new college / New course / New Division, Opening New Subject under extension and Permanent Affiliation Fees respectively as per mention in said draft. Committee has recommended the various fees in corporate of said ordinance should be applicable with due process from the Academic Year 2021-2022 and onwards.

--=\*\*=--